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Write these This pizzais to b ,
1 imbers 2 4 3 3 eredequalt | 4 if Tocciiay ush 5 |6
order from the S amongst uesday, what | What 5
smallest to the + 28 lz'"f: day was it the shape CGICUIG"'Q
biggest; —_— Ho:: m:n " | day before is this 32 x 10
31, 24,52,43 slices will they each gefz) yesfer'day? ® firework?
7  Werite the|8 Howmany |9 10 65 |11 What
number 50p's are | Round 176 _ 27 | number
4090 | 2= there to the — | is 40 more
in words in £10? nearest 10 than 630?
Estimate which There were 24 people What fraction
13 14 S hese | 10 e 2itnd 116 tnane P17 o hpe | 18
mals Is Howlman eople were now ' is shaded? What is
CG'CUIGT@ ‘rheGP?elavies‘r. on the byg P humber 5369 ‘
= e E what does the I the name
500 + 10 | w Dovel LR 3 stand for? 2D shape?
Dr'aW The Write the If my lunch cost Is this
19 How many 20 h 4 21 next two 22 following in 23 52.35 and T paid 24 statement
& days are x 3 terms in 24 hour time.. with a £5 note, how true or false?
= there in this sequence. o Mueh change
September? Al [V][<[A] [V — ;38 e 3<4
It costs 82p for What is the value On this map, what i
25 a can from 26 of the missing 27 28 dmect:ﬁ" s'.‘°“,:d 29 Write the 30 is b}/\/h:':qg
a vending number represented frg\',':? if\ 29th of gger:
machine. by the shape below? — 0 5x4o0r3x7
How much 21 78 November 1984 Give a reason
‘(’:Vg:s'dcjsﬁ 8 + =11| = as numbers only. |  for your answer!
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1 2 3 4 5 6
7 8 9 10 11 12
13 14 15 16 17 18
19 20 21 22 23 24
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